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Answer any TWO ol the following :
7 Following is the Balance Sheet of A Co.Ltd.as on 31.03.2025.

9

Section-C

Liabllilles Rs.|Assels Rs.
Share Capital 2,00,000( 0 o Assats 3.00.000
Rezerve Fund 75,000 Current Assets 1.00,000
P& LAk 25,000 Preliminary expenses] 50,000
IDabentures 50,000
Current Liahllities |f1,00,000]

50,000 4.50,000

2x5=10

B.Co. Ltd. takes over the business of A Co. Ltd. The purchase price has to be
paid in cash to the extent of Rs.50,000 and the balance in fully paid equity shares
of Rs.10 each. Calculate the amaunt of purchase consideration and show the

mode of paymenl.

Following is the Balance Sheet of Swasthik Ltd. as on 31.03.2025.

Liabililies Rs.JAssets Rs.

iCapital, Sharse of Rs.10 each [1,50,000{Building 1,20,000

Profit and Loss Alc 65,000{Flant 8 Machinery | 90,000

€% Debentures 45 n00{Stock 22,000
Credltars 15,500{Cash at Bank 3,50
Deblors 40,00

J2.75.500 2,75,500]

Building and Plant & Machlnery are 10% less than the book value, Rs. 2000 of
Debtors is to be taken as bad. Find the Intrlnsic value of a share.

Sinchana Lid. had (ha following Balance Sheet as on 31st March 2025.

Liabililies Rs|Assels Rs|
1,500 8% Preference shares| | 500 Goodwil 40,000
jof Rs. 400 each
13,000 Equity Shares of
Re.100 :a; 3,00,000 Buildings 2,00,000
9% Debeniures 1,00,000 Palenls 70,000
Creditors 35,000 Stock 4,80,000
Debtars 20,000
Profit and Loss alc 95,000
5,85,000 5,85.000"
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CHOICE BASED CREDIT SYSTEM SEMESTER SCHEME
B.Com. FOURTH SEMESTER DEGREE EXAMINATION APRILMAY 2025

COMMERCE
Audfit and Assurance
Duraiion:2 Hours ¥ax Marks:60
Section A
Answer any TWO of the following: (2x15=130)

l. Who may act as an Auditor? Explain about the appeinmenl and removal of Auditors,
2. Explain the types of threats and safeguards.

3. What are the matters (o be considered before relying on the work of the Management's
' Expert?

4. You are the audit manager of Dafty & Co and you are briefing your team on the approach to
adopt in undertaking the review and finalisation stage of the audit. Tn particular, your audit
senior is unsure about the steps to take in relation to uncorrected misstatements. During the
audit of Minnie Co the following uncorrected misstatement has been notzd. The property
balance was revalued during the year by an independent expert valuer and an emmor was
made in relation to the assumptions provided 1o the valuer.

a. Describe the factors Dafty & Co should consider when placing reliance on the work of

the independent valuer. (4 marks)

b. The foilowing additional issues have arisen during the course of the audit of Minnie Ca.

Profit before tax is $10m.

(i) Depreciation has been calculated on the total of land and buildings. In previous years it

has only been charged on buildings. Total depreciation is $2,5m and the element charged to

land only is $0.7m.

(i1) Minnie Co’s computerised wages program is backed vp daily, however for a period of
X two months the wages records and the back-ups have been corrupted, and therefors cannot

be aceessed. Wages and salaries for these two monthg are $1.1m.

(i) Minnie Co’s main compelitor has filed a lawsuit for $5m against them alleging a

breach of copyright; this case is ongoing and will not be resolved prior to the auditor’s

repoct being signed. The matter is correctly disclosed as a contingent Tiability.

Discuss each of these issues and describe the impact on the auditor’s report if the above

issues remajn unresolved.(11 marks)

Section B

Answer any TWO of the following: (2x10= 20)

5. You are an audit manager of Satsuma & Co and have been assigned to the audit of
Tangerine Tech Co (Tangerine), a company which is planning to list on a stock exchange
within six months. The listing rules of the stock exchange require compliance with
corporate governance principles, and the directors are unsure whether they are following
best practice in refation to this. They have asked the sudit engagement partner for their view
on this matter,

Tangerine’s board comprises six executive directors, a non-executive chair and three other
non-executive directors (NEDs). The chair and one of the NEDs are former executive
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directors of Tangerine and on reaching retirement age were asked to take on non-executive
roles. The company has established an audit committee, and all NEDs are members
including the chair who chairs the commiltee. All four members of the audit committce
were previously involved in sales or production related roles

All of the directors have been members of the board for at least four years. As the chair
does not have an executive role, he has sole responsibility for liaising with the shareholders
and answering any of their questions. The company has not established an internal audit
function to

monitor internal controls.

Using the information above describe four corporate governance weaknesses faced by
Tangerine Tech Co and provide a recommendation to address each weakness to ensure
compliance with corporate governance principles.

6. You are an audit senior responsible for understanding the entity and its environment and
assessing the risk of material misstatements for the audit of Rock Co for the year-ending 31
December. Rock Co is a company listed on a stock exchange. Rock Co is engaged in the
wholesale import, manufacture and distribution of basic cosmetics and toiletries for sale to
a wide range of stores, under a variety of different brand names. You have worked on the
audit of this client for several years as an audit junior. a
Describe the information you will seek and procedures you will perform in order ™
understand the entity and its environment and assess risk for the audit of Rock Co.

7. Goofy Co’s year-end is 31 December, which is traditionally a busy time for NAB & Co.
Goofy Co currently has an internal audit department of five employees but they have
struggled to undertake the variety and extent of work required by the company, hence
Goofy Co is considering whether to recruit to expand the department or to outsource the
internal audit department. If outsourced, Goofy Co would require a team to undertake
monthly visits to test controls at the various shops across the country, and to perform ad hoc
operational
reviews at shops and head office. Goofy Co is considering using NAB & Co to provide the
interna] audit services as well as remain as external auditors.

Discuss the advantages and disadvantages to both Goofy Co and NAB & Co of
outsourcing their internal audit department.

8. Describe substantive procedures an auditor would perform in verifying a company's banil

baiance. N
Section C
Answer any TWO of the following: (2x5=10)

9. What is Expectation Gap?

10. What is Interim Audit?

11. Define “tests of control’ and explain the importance of tests of control in the audit of a
company.

12. What are Adjusting events?

PR —
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those risks evaluale the impact of the risk on ZXC and where necessary, discuss
how that risk can be mitigated by ZXC.

. XL Travel is a tour operator based in the country's capital. It runs weekly trips to

the seaside resort of Black Rock (around 140 km away) for four day visits (typically
Friday to Monday).

The tours are very popular — especially with people aged over 65 (who make up
over 90% of XL's customers). The company has fraded profitably for many years
on the back of premium pricing. But recently profits have started to fall, coinciding
with a minority of complainlis from regular users.

Some users feel that the quality of the trips has fallen and is not up to previous
high standards. Other users feel that, whilst XL itself has invested (with plush new
offices, better markeling, more staff, easier booking systems etc.), this investment
has gone into the wrong areas.

XL has built up a large cash surplus for further investment. One of the ways that it
is considering using this cash is to invest and imprave its supply chain.

(a) What are likely to be the elements of XL's upstream supply chain? (5 marks)

(b) What areas could XL aim to change?(5 Marks)

(c) How might IT play a role in facilitating this change?.(5 Marks)

. A) Eastoft Feeds and Fertilisers Co uses a number of standard raw materials for its

product range. Product F4's main raw material is ‘EF1’. The average price per
tonne for this material, which is subject to seasonal change, for each quarter
during 20X5 is given below. The material is in short supply. (8 Marks)

20X5 Q1 Q2 Q3 | Q4
Average price per tonne $40 $44 364 .| $76
Seasonal variation -$4 -$8  +$4 | +38

Use the following table to determine the underlying trend in the average price of
raw material 'EF1".

20X5 Q1 Q2 Q3 Q4

Average price per tonne

Seasonal variation

Trend

Assuming a similar pattern of price movements was to continue, complete the
following table to determine the likely purchase price per tonne for each of the 4
quarters of 20X6.

20X6 Q1 Q2 Q3 Q4

Trend (increase of $8 per quarter) “




[seasonal variation

lForecast price per tonne
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$.(A) Mudra LId. glves the following Information the year ended 31st March, 20X1:

Particulars Rs.

Gross profit 40,25,365
Subsidies receivad from Govt, 2,73,925
Adminisirative, Selling and disiribution expenses 8,22.5492
Directors' fees 1,34,780
Intgrest on debentures 31.240
Managerial remuneration 2,856,350

Depreciation on Property, plant and equipmenl (PPE)| 5,22,543

Provision for Taxation 12.42.500
[Transfer to General Reserve 4,00,000
[Transfer to Investment Revalualion Reserve 12,500

Depreciation on PPE as per Schedule Il of the Companies Act, 2013 was Rs.
5,75,345. You are required to calculate the maximum limits of the managerial
remuneration as per Companies Act, 2013, {4 marks)

(B) The following extract of Balance Sheet of X Ltd. was obtained:
Balance Sheet {(Extrast) as at 31st March, 20X1

Liabllities IRs.

Authorised capital:

20,000, 14% preference shares of Rs. 100 20,00,00Q
2,00,000 Equity shares of Rs. 100 each 2.00,00,000

2,20,00,000
lssued and subscribed capital:

|E,000, 14% prafarence shares of Rs. 100 each fully paid|[15,00,000
1,20,000 Equity shares of Rs. 100 each, Rs. 80 paid-up [96.00,000
Share suspense account 120,00.000

Reserves and surplus:

apital reservas (Rs. 1,50,000 is revaluation reserve) 1,95,000

Securilies premium 50,000

Secured loans:

15% Debenlures 165,00.000

Unsecured loans:
Public deposits 3,70.000
Cash cradit Ioan from SBI {short term) 14,685,000
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M. Rai, who purchased produet ‘R* through the platform provided by AB Ltd. madc payment of

0,000 directly to XY on2)” February, 2025.

(i) ABC Lud is 2 producer of natural gas. Duing Ibe year its okl natural gas worth 26,50,000
10 M/s Desp Co., 2 parinership firm. Tt also incurred ¥1,70,000 as dreight for Ihe (ransportation
of gas. N raised the invoice and clewly segregated the value of gas as well es the
transpartation charges.

{H) ABC LLP peid job charges to XYZ. 3 partoership firn for doing embeoldery work o the fabric
supplicd by the ADC LLP during the previous year 2024-25 a5 under-

BILLNO. DATE AMOUNT’

1 30-04-2024 27,000

57 30-06-2024 25,000

105 30-09-204 28000

151 30-12-2024 32,000

{10Marks)
) Mr. Haesh fumishes the follesving defails for the year ended on 3 1-03-2025:

PARTICULARS nMOUﬁT
)
Salary roteived from partaership fm (the smne was allowed ¢o the limm) £,50,000

Loss on sale of shares listed in stock exchange held for 18 months and the £,00,000
STT paid on the sale and acquisition

Long term capitel gain on sale of land 5,00,000
Brought forward business loss of sssessment year 2016-17 6,00,000
Loz of the specified business covered in Section 35 AD 3,50,000
Loss from house property 2,50,000
Incomne from betting (gross) 50,000
Lass from card games . : = 35,000
Compute the total income and show the itee eligible for carry forward of Mr. Harsh for the
agsessment year 2025-26. {Stdarks)

b) Mr. Sarthak is a member of HUF. } consists of himself, his wife Juhi and his major son
Arjun and his mmor daughter Aditi, Mr. Sarthak ransfemed his bouse property scquiced through
his personal income to (he HUF without any consideration. On 01-10-2024, HUF s partitioned
and such property being divided equally. Net annusl value of the property for the Previous
Year 2024.25 is ?1,00,000. Determine the tax implications (SMarks)

) Explain with brief reasons, whether the retum of income ¢an be revised under Section
13%(5) of the Income-tax Act, 1961 in the Following cases.

@ Belated retum filed under Section 139(4)
@ Retum akeady revised twice under Section 139(S)
@) Retum of Toss filed under Section 135(3) {$ Macks)

b) What is the time lirit within which an updaled retun can be filed? Also enumerate the
¢ircumstances in which updated retum cannot be hurnished. {5 Marks)



5. a) A person olher lhan accompany o¢ a fim who is othersisc nol required fo furnish the retum of
income, needs 1o fumich retwm of income provided they fllGl certain conditions presceibed.
Enumerate {5 marks)

) Exsmine & explaio the TDS implications in the following cases slong with reasons
thereaf, assuning (hat the deductees are residents and having 3 PAN which they have duly
fumnished to the resp S

(¢ Akash {P) Limiled pays the foliowing amounts ts Mr. Saatosh during previous year 2024-
25
a. 122,000 lowards fec for professional wrvices
b, 318,000 towards royaky.

iy Poyment of T1,75,000 made 10 Mr. Ankil for purchase of bag according 1o specifications of
Mfs Packaging Limited. However, no material was supplied for suwch beg by M.

Limited or its Jales to Mr. Ankit, (5Marks)

6. a) Yijay, an [ndian citizen residing in Cheanai, files his retum of income every year an time.
He has Aedhaar number as well. He has not intimated his Aadhaar number Lo the prescribed
aulhority 1ifl August 2024, He appeoached you on 192024 and asked you aboml the
conscquences of nol doing so.

What would be your snswer if Mr. Vijay wants to inimate his Aadbaar number to the preseribed
anthority now? (5 Marks)

F

{b) In each of the following independent silvations, you are required 0 examine whether
these persons are required to file their retum of income or loss for A.¥.2025-26 if their
total ingome for the .Y, 2024-25 do not exceed the basic exemption limiL:

() The tumover of Mr. Ankit’s business is 365 lakhs during the P.Y.2024-25.

(iij Mr. Suyash has' incurred a total expenditure of T90,000 1owards consumption of elecirlcity”
during the P.Y.2024-25. (5 Marks)

EEORKIVED OIS
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Tolal variable production costs| $525

Marketing costs 75

Total variable costs 3500

Madengrad's income tax rale is 40%, and anoual fixed costs arc $6,600,000. Excepl
for an operating loss incurred in the year of incorporation, the firmt has been profiiable
over the last 5 years,

Assume a 10% jncrease in annoal fixed costs, a 20% unit cost increase for direct
Tabor, and a redwetion in unil malecial costs of 25%, with no change in selling price.

Afer incorporating these ch Madengrad Company’s contribution margin ratio
wouldbe .
Cemne Corporation makes molors for various producis. Operating data and unit cost
for its products are p d below
Prodoct A | Product B

Annual unit capacity 10,000 20,000

Annual unit demand 10,000 20,000

Selling price 5100 $80

Variable manufactuning cost 53 45

Fixed manufacturing cost 10 10

Variable selling & administrative | 10 1}

Fixed selling & administrative H 4

Fixed other administrative 2

Unit operating profit $20 $10

Machine hours per unit

Cervine has 40,000 productive machine hours available. What is the maximum total
contribution tmargin that Cervine can generate in (he coming year?

A compeny is considering outsouteing one of the component parts for its product. The

company currently makes 10,000 parts per month. Current costs are as follows:-
Per uait Total
Direct materials 34 $40,000
Direct labor 3 30,000
Fixed plant facility cost - 20,000

The company decides to purchase lhe part for $8 per umit from another supplicr and
rents its idle capacity for $5,000/month. How will the company’s monthty costs
¢hange?

Yamow Co. is idering the purchase of 2 new hine (hat costs $450,000. The
new machine will generate net cash flow of $150,000 per year and net income of
$100,000 per year for five years, Yarrow's desired ratz of retumn is 6%. The present
value factor for a five-year annuity of $1, discounted at 6%, is 4.212. The preseat
value factor of §1, at compound interest of 6% due in five years, is 0.7473. What is
the new machine’s net present value?




. a

¢) National Inc. is considering three mutually exclusive projects. Each project would

=

b)

d

=

involve an initial investment of $7,000 and generate the following cash inflows.
Year 1 2 3 4 Totai

Project X [50  |4,000{2,000 5,000 | $11,000
Project Y |2,000|3,000| 4,000 2,000 | $11,000

— }
Project Z ' 5,000 0 12,000 4,000 $11,000
Given a cost of capital of 10%, rank the projects in descending order of Net Present
Value (NPV).

Bruce Inc. has the following information about Rut, the only product it sells:
s The selling price {or each unit is $20.
s The total variable cost per unit is $8.
o Total fixed cost for the firm is $60,000.
o The firm\'s current tax rate is 25%.
If Bruce wants to earn $60,000 in profits after taxes, how many units must it sell?

A company produces and sells 2,000 units of finished goods and incurs $60,000 of
fixed costs annually. The contribution margin is $60 per unit, and variable cost is $40
per unit. If the company expects sales quantities to increase by 10% next year, the
operating profit will be -

Multi Frame Company has the following revenue and cost budgets for the two
roducts it sells:

Plastic Glass
Frames Frames
Budgeted unit sales 100,000 300,000
Sales price $10.00 $15.00
Direct matetials (2.00) (3.00)
Direct labor (3.00) (5.00)
Fixed overhead {1.95) (2.60)
Net income per unit I$ 05 $4.40

The budgeted unit sales equal the current unit demand and total fixed overhead for the
year is budgeted at $975,000. Assume the company plans to maintain the same mix
ratio. In numerical calculations, MultiFrame rounds to the nearest cent and unit.

The total number of units needed to break even if the budgeled direct labor costs were
$2 for plastic frames instead of $3 is .

Johnson Company manufactures a variety of shoes, and has received a special one-
time-only order directly from a wholesaler. Johnson has sufficient idle capacity to
accept the special order to manufacture 15,000 pairs of sneakers at a price of $7.50
per pair. Johuson’s normal selling price is $11.50 per pair of sneakers. Variable
manufacturing costs are $5.00 per pair and fixed manufacturing costs are $3.00 a pair.
Johnson’s variable selling expense for its normal line of sneakers is $1.00 per pair.
‘What would the effect on Johnson’s operating income be if the company accepted the
special order?



¢) A company is considering the purchase of an equipment to save its costs. The relevant

data for cost savings and costs involved are as follows:

Cost of the equipment: $300,000.

Annual cash savings on account of purchase of equipment (before tax and
depreciation): $80,000.

Useful life of the equipment: (ive years with no salvage value.

Depreciation is calculated using straight line method.

Income (ax rate: 40%.

Cost of capital for a company: 10%.

PV factors of 1$ @10% from year 1 to year 5 are: 0.909, 0.826, 0.751, 0.683 and
0.621.

PV factors of annuity of 1$ @10% from year 1 to year 5 are = 0.909, 1.736, 2.487,
3.170 and 3.791.

‘What is the net present value of the investment?

SECTION-B

Answer any TWO questions: (2%10=20)
4. a) Riverfront Properties’ new apartment building was almost complete. There were a

b)

C,

d

<

<

=

few inspections left to pass, and they did not have a certificate of occupancy. However,
the owner felt that they were close cnough that he allowed new tenants to begin moving
in. The risk that the owner has created in this situation is best described as

A. strategic risk, because the owner was not in compliance with laws and regulations.
B. operational risk, because the remaining inspections could determine that the
building is uninhabitable.

C. strategic risk, because the remaining inspections could determine that the building
is uninhabitable.

D. operational risk, because the owner was not in compliance with laws and
regulations.

Which of the following actions best illustrates an organization’s commitment to
corporate social responsibility (CSR)?

A. CSR-related activities are reported only within the organization itself.

B. Line managers are instructed to review and amend processes to align them with the
organization’s CSR policy.

C. CSR activities are audited only by third parties.

D. The board of directors announces its adoption of the ISO framework on CSR.

Sarbanes Oxley Section 406 defines a code of ethics as a statement of standards that is
necessary (o promote which of the following corporate objectives?

A. Achievement of earnings per share targets that are cormmunicated to shareholders.
B. Creation of a work environment with a good work-life balance for all employees.
C. Increasing dividends for shareholders.

D. Honest and ethical conduct, including the ethical handling of actual or apparent
conflicts of interest between personal and professional relationships.

With respect to the internal control provisions of the U.S. Foreign Corrupt Practices
Act (FCPA), all of the following statements are true except that

A. internal controls are used by companies to help provide reasonable assurance
regarding reliability of financial reporting.

B. good internal controls can help prevent not only FCPA violations, but also other
illegal or unethical conduct.

C. the FCPA prescribes a particular set of internal controls that companies are
required to develop and implement.

D. access to company assets are permitted in accordance with management’s general
and specific authorization.
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Which one of the following items is least likely to directly impact an equipment
replacement capital expenditure decision?

A. The net present value of the equipment that is being replaced

B. The depreciation rate that will be used for tax purposes on the new asset

C. The amount of additional accounts receivable thal will be generated from increased
production and sales

D. The sales value of the assel that is being replaced.

Which one of the following best describes a cash flow pattern that may result in
multiple internal rates of retum for a single project?

A. The direction of cash flow changes multiple times during the life of a project.

B. The cash inflows from a project starl higher and decline over the life of a project.
C. Negative cash flows for more than one consecutive period, then positive cash flows
for the remainder of the project.

D. The equipment has a scrap value that cannot be fully determined at the beginning
of the project.

When evaluating projects, breakeven lime is best described as

A. The point where cumulative cash inflows on a project equal total cash outflows.
B. Annual fixed costs monthly contribution margin.

C. The point at which discounted cumulative cash inflows on a project equal
discounted total cash outflows.

D. Project investment  anoual net cash inflows.

Despite its shortcomings, the traditional payback period continues to be a popular
methad to evaluate investments because, in part, it

A. fumnishes information about an investment's lifetime performance.

B. ignores the time value of money.

C. focuses on income rather than cash flow.

D. provides some insight into the risk associated with a project.

The net present value (NPV) of a p
discount rate used must be

A. Less than the project's internal rate of return.
B. Greater than the project's internal rate of return.
C. Greater than the firm's cost of equity.

D. Less than the risk-free rate

din t is negative; therefore, the

P

A company is interested in a capital project that has a net present value of $0. The
company should

A. accept the project because the company's required rate of return has been met.
B. reject the project because its internal rate of return is 0%.

C. reject the project because its cash inflows equal the project's cash outflows.

D. accept the project because the company's value will increase.

. a) What is the major difference between traditional risk management and Enterprise

Risk Management (ERM)?

A. Traditional risk management prepares an organization to respond to specific,
recognized events that could prevent the organization from achieving its objectives.
ERM prepares the organization to respond to any event that could prevent it from
achieving its objectives, whether or not the event has been previously recognized as a
risk.



b

<)

d)
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B. Traditional risk management focuses on risks that can be mitigated by insurance,
whereas ERM includes risks that cannot be mitigated by insurance but can be
mitigated in other ways.

C. Traditional risk management considers only risks that could have a negative effect
on the organization, whereas ERM includes risks that could have either a negative or
a positive effect on the organization.

D. In traditional risk management, each individual business unit does its own risk
management, whereas with ERM, the major risk areas for the organization as a whole
arc identified, and the individual units use that as a basis to define the specific risks
they face.

Employee A observes that Employee B is improperly altering department records to
meet month end goals. These records are for internal use only and do not impact the
company's financial records. Employee A notifies her supervisor of the impropricty,
and the supervisor advises Employee A that she instructed Employee B to alter the
records and an adjustment would be made the subsequent month to correct the
records. Employee A should

A. follow the organization's established procedures for the resolution of such
unethical issues.

B. advise the supervisor that her behavior was unethical and do not communicate the
impropriety any further.

C. communicate the unethical behavior to external authorities.

D. do nothing since the supervisor authorized the behavior.

Communicating information refated to risks is very important in enterprise risk
management. Which individual is most likely in the best position to recognize
problems as they arise related to customer product design needs?

A. Production manager

B. Risk manager

C. Internal auditor

D. Sales representative

An IMA member discovers a problem that could mislead users of the firm’s-financial
data and has informed his immediate superior. He should report the circumstances to
the audit committee and/or the board of directors only if the immediate superior

A. reports the situation to her superior.

B. reports to the chief executive officer, and knows about the situation but refuses to
correct it.

C. is the firm’s chief executive officer, and knows about the situation but refuses to
correct it.

D. assures the member that the problem will be resolved.

All decisions by financial managers should be driven by the primary goal to
A. Maximize revenues.

B. Minimize fixed costs and variable costs.

C. Stabilize growth.

D. Maximize stockholder wealth.

In equipment-replacement decisions, which one of the following does not affect the
decision-making process?

A. Original fair value of the old equipment.

B. Operating costs of the old equipment.

C. Cost of the new equipment.

D. Current disposal price of the old equipment
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When determining net present value in an inflationary environmenl, adjustments
should be made 1o

A. Increase the estimated cash inflows and increase the discount rate.

B. Increase the discount rate, only.

C. Increase the estimated cash inflows but not the discount rate.

D. Decrease the estimated cash inflows and increase the discount rate.

Accounting rate of return method of evalualing an investment proposal could not be
sometimes preferred over other methods because:

A. It takes into account only cash inflows and outflows.

B. It ignores time value of money.

C. 1t does not give consideration (o the life of the project.

D. It does not take into account salvage value of the project.

Which of the following slatements about investment decision models is true?

A. The discounted payback rate takes into account cash flows for all periods.

B. The payback rule ignores all cash flows after the end of the payback period.

C. The net present value model says to accept investment opportunities when their
rates of return exceed the company's incremental borrowing rate.

D. The internal rate of return rule is to accept the investment if the opportunity cost of
capital is greater than the internal rate of return.

The rankings of mutually exclusive investments determined using the internal rate of
return method (IRR) and the net present value method (NPV) may be different when
A. Multiple projects have unequal lives and the size of the investment for each project
is different.

B. The required rate of return equals the IRR of each project.

C. The required rate of return is higher than the IRR of each project.

D. The lives of the multiple projects are equal and the size of the required investments
are equal.

The net present value method of capital budgeting assumes that cash flows are
reinvested at

A. The cost of debt.

B. The discount rate used in the analysis

C. The risk-free rate.

D. The rate of return of the project.

A company wants to invest in a project on which the actual return the company
expects to earn should be more than the minimum retumn to be earned on the project to
breakeven, considering only cash inflows and outflows. Which of the following
caleulations would be helptul for a company to pick up such an investment?

1. Net present value.

1. Payback period.

111 Internal rate of return.

IV. Accounting rate of return.

A.Tand Il only.

B. Il and IV only.

C.Iand IV onty.

D. All of above.
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Which one of the following statements concemning cash flow determination for capital
budgeting purposes is not correct?

A. Tax depreciation must be considered because it affects cash payments for taxes.

B. Sunk costs are not incremental lows and should not be included.

C. Book depreciation is relevant because it affects net income.

D. Net working capital changes should be included in cash flow forecasts.

Which of the following is a limitation of {he profitability index?

A. It uses free cash flows.

B. It ignores the time value of money.

C. It is inconsistent with the goal of shareholder wealth maximization.
D. It requires detailed long-term forecasts of the project's cash flows.

Depreciation is incorporated explicitly in the discounted cash flow analysis of an
investment proposal because it

A. is a cash inflow.

B. is a cost of operations that cannot be avoided.

C. represents the initial cash outflow spread over the life of the investment.

D. reduces the cash outlay for income taxes.

After calculating both the simple payback period and the discounted payback period
for a project, the discounted payback period is

A. shorter because the time value of money raises the value of the cash flows.

B. longer because the time value of money raises the value of the cash flows.

C. shorter because the time value of money lowers the value of the cash flows.

D. longer because the time value of money lowers the value of the cash flows.

A major difference between risk in investing and other types of risk is

A. risk in investing has the potential for either a positive or negative event, whereas
other types of risk have the potential only for a negative event.

B. risk in investing has the potential for great losses, whereas-other types of risk have
the potential for either great losses or great gains.

C. other types of risk can be managed with insurance, whereas it is not possible to
manage risk in investing.

D. risk in investing is operational risk, whereas other types of risk are strategic risks.

The maximum possible loss to the seller of a naked call option, if no other transaction
is made to hedge it, is

A. the amount the seller receives for the sale.

B. the amount of the seller's investment.

C. the strike price of the option.

D. unlimited.

Which one of the following ethics-related actions by management is least effective in
encouraging acceptance by employees of an organization's code of conduct?

A. Management supports employees in adhering to ethics standards.

B. Management follows ethical principles in decisions made on behalf of the
organization.

C. Management keeps promises and commitments made to employees, customers and
vendors.

D. Management appoints an ethics officer to monitor and report to management on
employee compliance.



j) How can a management accountant use the Fraud Triangle to identify and manage (he
risk of fraud?
A. The Fraud Triangle provides a SOX. pliant model for ining the pany’s
internal control enyironment in lerms of its risk of fraud.
B. The Jraud Triangle provides a mode] for explaining bow persuasion, coercion, and
conviction influénce peopls to commit fraud.
C. The Frond Triangle provides a model for explaining the pressures, rationalizations,
and opportunities that influence people 1o commil fraud.
D. The Fraud Triangle provides a model for explaining the molives, means, and
opporiunilies that influence peaple to commit fraud.
SECTION-C
Angwor any TWO questions: (2#5=10) (242+1)
7. a) What is consumer fraud?
b) Explain IMA’s4 hing ethical principk
c) Break even sales inunits=?
8. a) Elaborate on morality v/s virtue.
b) Explain Sec 406 of SOX.
¢} Price elasticity of demand =7
9. a) What are the various risk responses?
b) Explain positive and negative shift in demand curves.
<) Profitability Index = 7
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SECTION - A

Angwer any TWQ qacslions: (2415=30) (3+3+3+3+3)
1. a) Recgizs Company manulactures plugs used in ils manufacturing ¢ycle at a cost of $36

<,

per unit that includes $8 ol fixed overhead. Regis needs 30,000 of thess plugs
annually, and Oran Company has oifered to sell these units te Regis at $33 per unit.
1f Regis decides to purchase he plugs, $60,000 of the annual fixed overhead applied
will be eliminaled, and the company may be able (o rent the facility previously used
for manufacturing the plugs.

If the plugs are putchased and the facility renied, Regis Company wishes to realize
£100,000 in savings annually. To achicve this geal, the minimum annual rest on the
facility must be

A circuit board pany d § joint faciuring process to produce 10,000
units of Board A and 10,000 units of Board B. The totl joint variable manufactoring
cost to produce these two preoducts is $2,000,000. The company can sell all 10,000
units of Board B at the split-off point for $300 per unil, or process Board B further
and sell all 10,000 units at $375 per unit, The total additional cost to process Board B
further would be $500,000, and all additional costs would be variable. If the company
decides (o process Board B further, what effect would the decision have on operating
income?

Kator Co. is a manufacturer of industrial components. One of their products that are
used as a subcomp in auto ing is KB-96. This product has the
+following financial structure per wnit . !

Selling price $150

Direct materials $20

Direct labor s

Variabls manufacturing overhead | £2

Fixed manufacturing overhead |30
Shipping and handling 3

Fixed selling and administeative | 10

Total cosis $50
During (he next year, KB-96 sales are expected to be 10,600 units. All of the costs
will remain the same except that fixed manufacturing overhead will increase by 20%
and direct materials will increase by 10%. The selling price per unit for next year will
be $160. Based on this data, the contribution margin from KB-96 for next year wall be
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d)y Garfield, Inc. is considering a H0-year cnpnal mveslmenl project with forecasted
d cash

revenues of 340,000 per year and f

of $28,000 per

year. The initial cost of the equipment for the pxojccl is $23, 000 and Garfield expects
to sell the equipment for $9,000 at the ¢end of the (enth year. The equipment wili be
depmcmed over 7 years. The project requires a working capilal investment of $7,000
at i1s inception and another $5,000 al (be end of year 5. Assuming a 40% margmal tax
rale, the expected net cash flow (rom the project in the tenth year is

) Jensan Copying Company is plznning (o buy a coping machine costing $25,310. The

net prasent values (NPV) of this f

, at various di Tates, are 35 (oll

Discouut Rate | NPY
4%, $2,440
6% $1,420
8% $460
10% (5 440)

Jenson's approximaie internal rote of reqem on this invesiment is

2. a) Harper Products’ cost information for the normal range of output in a month is shown

below,
Output in units | Total Cost
20,000 $3,000,000
22,500 3,325,000
25,000 3,650,000

What is Harper's short-run marginal cost?

b) A company cumrently has a four-stege manufacturing process in the following order:
Processing, Smoothmg, Shamng. and Painting. There, is a madket for the output of eeph

stage. A newly app has been ing the \pany’s
P and has prepared the fotlowing information below

Manufacturing Stege | Total Selling Prce of Qutput | Incremental Variable Cost Per Stage
Processing s10 $8

Smoathing 12 1

Shaping 18 5

Fainfing 20

Given the above information, selling the output afier which one of the following
stages will yield the greatest contribution margin?

¢) For the year just ended,

y's sales was $450,000.

C
Silverstone’s fixed costs were $120,000 and :tsr variable cosls amounted to $270.000.
For the current year sales are forecasted al $500,000. If the fixed costs do not change,
Silverstone’s profits this year will bs

d) Product Cott has sales of $200,000, a contribution margin of 20%, and s margin of
safaty of $80,000. What is Cott’s fixed cost?




¢) Cereal Foods produces two organic cereals: Granola Stars and Magic Grain. Cost data
for the two products are shown below:

Granola S(arsﬁ 7Vavgvic—(}rain
éales price (per 1 kg bag) $11.00 1$15.00
[Variable costs: ;
| Direct materials $2.50 [ 15285

Direct labor | 200 | 250
Variable Overhead H 7 2.;
Variable selling and administrativ o 1.50 | ) 2.06

Cereal Foods can sell any quantity of either of the types of cereals that it produces.
However, its baking ovens can run only 12 hours per day, constraining the quantity of
product that Cereal Foods can produce. The baking ovens can produce 72 kgs of
Granola Stars in one hour; or, the baking ovens can produce 30 kgs of Magic Grain in
one hour.

The contribution per oven hour of Granola Stars and Magic Grain is and

. a) A fuel company can sell 8 units of product at a selling price of $450. However, at a
selling price of $445 the company can sell 9 units. What is the marginal revenue that is
derived from selling the 9th unit?

b

2

Brewster Co. has the following financial information:-
Fixed costs | $20000

LVariabla costs | 60%

Sales price % $50

‘What amount of sales is required for Brewster to achieve a 15% return on sales?

C,

<

Specialty Inc. has a limited supply of 1,200 Ibs of raw materials which can be used to
roduce either product X or Y, details of which are given below.

Product X | Product Y.
Selling price per unit $200 $250

Variable costs per unit 176 200

Raw materials used per unit | 8 lbs. 10 1bs.

Which one of the following should Specialty produce in order to maximize contribution
margin?

d) A company produces and sells 2,000 units of finished goods and incurs $60,000 of
fixed costs annually. The contribution margin is $60 per unit, and variable cost is $40
per unit, If the company expects sales quantities to increase by 10% next year, the
operating profit will be .



¢) A company is considering outsourcing one of the component parts for its product. The
company currently makes 10,000 parts per month. Current costs are as follows:-

Per Total
unit
Vﬁcl materials $4 v~¥$40.000‘
h;irz‘cl Iabo;~ 3 30,000
Fixed plant facility cc:;I_‘?..w 20—,0_0—(; -

The company decides to purchase the part for $8 per unit from another supplier and
rents its idle capacity for $5,000/month. How will the company's monthly costs change?

SECTION-B

Answer any TWO questions: (2*10=20)
4. a) Which of the following actions best illusirates an organization’s commitment to

corporate social responsibility (CSR)?

A. CSR-related activities are reporied only within the organization itself.

B. Line managers are instiucted to review and amend processes {o align them with the

organization’s CSR policy.

C. CSR activities are audited only by third parties.

D. The board of directors announces its adoption of the ISO framework on CSR.

b) Based on experience, an electronics retailer has developed the following probabilities
of various types of theft occurring during a year's time and the amount of loss if each
one does occur:

Risk Probability Amount of Loss
Breaking and entering 10% $100,000
Employee theft 35% 50,000
Shoplifting 85% 80,000
Aggravated burglary 10% 30,000
Other 5% 10,000
‘What is the expected loss from shoplifting?
A. $80,000
B. $55,000
C. 868,000
D. $99,000

¢) Games Unlimited has convened a group of employees o review the company’s code

of ethics and propose revisions and improvements. One of the suggested
improvements is the development of a Whistleblowing Framework as recommended
by IMA's “Statement on Management Accounting, Values and Ethics: From
Inception to Practice.” This framework will provide all of the following benefits
except:

A. A means for the collection, analysis, and summarization of ethical issues.

B. Opportunities to enhance and improve internal controls.

C. A confidential means for employees to report possible violations.

D. A method for defining the organization’s behavioral values.

d) After a competitive bidding process, a company’s purchasing director awarded a
contract to the lowest bidder, an organization in which she had a personal interest.
Since the winning bidder had the lowest price, she did not disclose her relationship
with the entity. In fact, she frequently highlighted the fact that the winning bidder had



€

<

®

h)

=

the most experience servicing contracts of this nature. Which one of the values of
cthical decision making did the purchasing director violate?

A. Honesty, because she was not being truthful about the experience of the bidder.

B. Integrity, because her relationship with the bidder could have impaired her
Jjudgment.

C. Faimness, because she did not tell the truth about her relationship with the vendor.
D. None, because a competitive bidding process was utilized.

All decisions by financial managers should be driven by the primary goal to
A.Maximize revenues.

B.Minimize fixed costs and variable costs.

C.Stabilize growth.

D.Maximize stockholder wealth.

In equipment-replacement decisions, which one of the following does not affect the
decision-making process?

A Original fair value of the old equipment.

B.Operating costs of the old equipment.

C.Cost of the new equipment.

D.Current disposal price of the old equipment

When determining net present value in an inflationary environment, adjustments
should be made to

AIncrease the estimated cash inflows and increase the discount rate.

B.Increase the discount rate, only.

C.Increase the estimated cash inflows but not the discount rate.

D.Decrease the estimated cash inflows and increase the discount rate.

Accounting rate of return method of evaluating an investment proposal could not be
sometimes preferred over other methods because:

A.lt takes into account only cash inflows and outflows.

B.It ignores time value of money.

C.It does not give consideration to the life of the project. *

D.It does not take into account salvage value of the project.

‘Which of the following statements about investment decision models is true?

A.The discounted payback rate takes into account cash flows for all periods.

B.The payback rule ignores all cash flows after the end of the payback period.

C.The net present value model says to accept investment opportunities when their
rates of return exceed the company's incremental borrowing rate.

D.The internal rate of return rule is to accept the investment if the opportunity cost of
capital is greater than the internal rate of return.

The rankings of mutually exclusive investments determined using the internal rate of
return method (IRR) and the net present value method (NPV) may be different when
A.Multiple projects have unequal lives and the size of the investment for each project
is different.

B.The required rate of return equals the IRR of each project.

C.The required rate of return is higher than the IRR of each project.

D.The lives of the multiple projects are equal and the size of the required investments
are equal.






h) Despite its shoricomings, the traditional payback period continues to be a popular
method to evaluate investments because, in part, it
A. furnishes information aboul an investment's Jifetime performance.
B. ignores the time value of money.
C. focuses on income rather than cash flow.
D. provides some insight into the risk associated with a project.

i) The net present value (NPV) of a proposed investment is negative; therefore, the
discount rate used must be
A. Less than the project's internal rate of return.
B. Greater than the project's internal rate of return.
C. Greater than the firm's cost of equity.
D. Less than the risk-free rate

j) A company is interested in a capital project that has a net present valuc of $0. The
company should
A. accept the project because the company's required rate of return has been met.
B. reject the project because its internal rate of return is 0%.
C. reject the project because its cash inflows equal the project's cash outflows.
D. accept the project because the company's value will increase.

a) The net present value method of capital budgeting assumes that cash flows are reinvested
at

A.The cost of debt.

B.The discount rate used in the analysis

C.The risk-free rate.

D.The rate of return of the project.

b) A company wants to invest in a project on which the actual return the company
expects to earn should be more than the minimum return to be earned on the project to
breakeven, considering only cash inflows and outflows. Which of the following

* calculations would be helpful for a company to pick up such an investment?
L. Net present value.
II. Payback period.
1II. Internal rate of return.
IV. Accounting rate of return.
A.Tand Il only.
B. Il and IV only.
C.Iand IV only.
D. All of above.

c) Which one of the following statements concerning cash flow determination for capital

budgeting purposes is not correct?
A. Tax depreciation must be considered because it affects cash payments for taxes.
B. Sunk costs are not incremental flows and should not be included.
C. Book depreciation is relevant because it affects net income.
D. Net working capital changes should be included in cash flow forecasts.
d) Which of the following is a limitation of the profitability index?

A. It uses free cash flows.

B. It ignores the time value of money.

C. It is inconsistent with the goal of shareholder wealth maximization.
D. It requires detailed long-term forecasts of the project's cash flows.
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Depreciation is incorporated explicitly in the discounted cash flow analysis of an
investment proposal because it

A. is a cash inflow.

B. is a cost of operations that cannol be avoided.

C. represents the initial cash outflow spread over the life of the investment.

D. reduces the cash outlay for income (axes.

After calculating both the simple payback period and the discounted payback period
for a project, the discounted payback period is

A. shorter because the time value of money raises the value of the cash flows.

B. longer because (he time value of money raises the value of the cash flows.

C. shorter because the time value of money lowers the value of the cash flows.

D. longer because the time value of money lowers the value of the cash flows.

A major difference between risk in investing and other types of risk is

A. risk in investing has the potential for either a positive or negative event, whereas
other types of risk have the potential only for a negative event.

B. risk in investing has the potential for great losses, whereas other types of risk have
the potential for either great losses or great gains.

C. other types of risk can be managed with insurance, whereas it is not possible to
manage risk in investing.

D. risk in investing is operational risk, whereas other types of risk are strategic risks.

The maximum possible loss to the seller of a naked call option, if no other transaction
is made to hedge it, is

A. the amount the seller receives for the sale.

B. the amount of the seller's investment.

C. the strike price of the option.

D. unlimited.

Which one of the following ethics-related actions by management is least effective in

encouraging acceptance by employees of an organization's code of conduct?

A. Management supports employees in adhering to ethics standards.

B. Management follows ethical principles in decisions made on behalf of the
organization.

C. Management keeps promises and commitments made to employees, customers and
vendors.

D. Management appoints an ethics officer to monitor and report to management on
employee compliance.

How can a management accountant use the Fraud Triangle to identify and manage the

risk of fraud?

A. The Fraud Triangle provides a SOX-compliant model for examining the company's
internal control environment in terms of its risk of fraud.

B. The Fraud Triangle provides a model for explaining how persuasion, coercion, and
conviction influence people to commit fraud.

C. The Fraud Triangle provides a model for explaining the pressures, rationalizations,
and opportunities that influence people to commit fraud.

D. The Fraud Triangle provides a model for explaining the motives, means, and
opportunities that influence people to commit fraud.






